Bridging the Gap Program /Geometry Course                     March 7, 2015
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Tn thombus ABCD, with diagonals AC and DB, AD = 10.

D 10 A

c B

If the length of diagonal AC is 12, what is the length of DB?

s (3) Va1
(2 16 (4) V136

If the surface area of a sphere is 1447 square centimeters, what is
the length of the diameter of the sphere, in centimeters?

(1) 36 (3) 12
(@) 18 )6

Which numbers could represent the lengths of the sides of a triangle?
(1) 5,9, 14 (3) 1,24
@ 7,715 (4) 3,6,8
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In the diagram below, transversal TU intersects PQ and RS at
Vand W, respectively.

u

5x = 22 and mZVWS = 3x + 10, for which value of x

(3) 24
(1) 28

The measures of the angles of a triangle are in the ratio 2:3:4.
In degrees, the measure of the largest angle of the triangle is

) 20 (3) 80

() 40 (4) 100
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What is the equation of a line passing through the point (4,~1) and
parallel to the line whose equation is 2y — x = §?
(1) y=tx-3 (@) y=-20+7

@ y=tx-1 ) y=-2+2
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As shown in the diagram below, BO and tangents BA and BC are drawn from external point B to
circle O. Radii OA and OC are drawn.

A

c

If OA = 7and DB = 18, determine and state the length of AB.
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In right triangle ABC shown below altitude BD is drawn to hypotenuse AC.

B

A D [

IfAD = 8 and DC = 10, determine and state the length of AB.
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In the diagram below, quadrilateral ABCD has vertices A(=5,1),
B(6,~1), C(3,5), and D(=2,7).

y

What are the coordinates of the midpoint of diagonal AC?
1) (-13) (3) (14)
@) (1.3) “) 23)
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6 When the system of equations y + 2 = 12 and y = x is graphed on
a set of axes, what is the total number of points of intersection?

1 (3)3
@2 o0
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The vertex angle of an isosceles triangle measures 15 degrees more

than one ofits base angles. How many degrees are there in a base angle
of the triangle?

(1) 50 (3) 65
() 55 (4) 70
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In the diagram of APQR shown below, PR is extended to S,
mLP =110, m£Q = 4x, and mZQRS = * + 5x.

Q
(2 + 5x)°
P R s
What is m£Q?
(1) 44 (3) 1
(2) 40 ) 10

Triangle PQT with RS || QT is shown below.

P

Q T

If PR = 12, RQ = 8, and PS = 21, what is the length of PT?
) 14 3) 35
(2 17 4) 38

comput




